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Soluzione esercizio 1.

a) P(2acuori | 1acuori) = 12
51

= 4
17

b) P(2anera | 1apicche) = 25
51

c)

P(asso e quattro) = P(asso poi quattro) + P(quattro poi asso) =

2P(asso poi quattro) = 2 · 1

13
· 4

51
=

8

663

d) P(due picche) =
(13

2 )
(52

2 )
= 1

17



Soluzione esercizio 2.

a)

P(X ≥ 3) = 1−P(X = 0)−P(X = 1)−P(X = 2) =

1− e−3 − 3e−3 − 9

2
e−3 = 1− 17

2
e−3 ' 0.577

b)

P(X ≥ 3 |X ≥ 2) =
P(X ≥ 3 ∩X ≥ 2)

P(X ≥ 2)
=

P(X ≥ 2)

P(X ≥ 1)
=

1− e−3 − 3e−3 − 9
2
e−3

1− e−3 − 3e−3
=

e3 − 17
2

e3 − 4
' 0.72

c)

E(X |X ≥ 2) =
k=∞∑
k=1

k ·P(X = k |X ≥ 2) =
k=∞∑
k=1

k · P(X = k)

P(X ≥ 2)
=∑k=∞

k=1 k ·P(X = k)

P(X ≥ 2)
=

3

1− 4e−3



Esercizio 3.

Sia E l’evento “il dado è equilibrato”. P(E) = 2
3
. Abbiamo

P(X = 1) = P(X = 1|E)P(E) + P(X = 1|EC)P(EC) =
1

6
· 2

3
+

1

2
· 1

3
=

5

18

e per j = 2, . . . , 6

P(X = j) = P(X = j|E)P(E) + P(X = j|EC)P(EC) =
1

6
· 2

3
+

1

10
· 1

3
=

13

90

a)

P(X ≥ 5) = P(X = 5) + P(X = 6) =
13

45

b)

E(X) =
6∑

j=1

jP(X = j) =
5

18
+ (2 + 3 + 4 + 5 + 6)

13

90
=

19

6

E(X2) =
6∑

j=1

j2P(X = j) =
5

18
+ (4 + 9 + 16 + 25 + 36)

13

90
=

239

18

Var(X) = 13
4


